

Superior design and engineering power the Aurora's unparalleled performance. With many of the same features as its sister Echelon Series, the Aurora Series grill delivers cooking versatility, durability and longevity in a beautifully crafted machine.

Not sk

.

FIREMAGIC

# Aurora Feature Highlights



**Diamond Sear Cooking Grids** 

All 304 stainless steel trapezoid cooking grids provide greater cooking surface for even heat and great searing.



Analog Thermometer Analog thermometer with polished stainless steel bezel in hood measures up to 1000° F.



#### **Hot Surface Ignition**

Hot surface electronic ignition provides reliable lighting for every meal. Requires 120 Volt AC power supply.



#### Comfort Touch Knobs

Knobs are at a  $40^{\circ}$  angle to easily see how to operate; and have comfort-touch grips for safety and convenience.



Cast Stainless Steel Burners 1/4" thick cast stainless steel "E" burners for consistent, even heat and a lifetime of durability.



Gourmet Face

Seamless control panel with satin finish. Optional digital thermometer available as an upgrade.



**Stainless Steel Backburner** 

Optional stainless steel backburner and a complete rotisserie kit with a polished stainless steel cover for protection.



Halogen Interior Lights Interior halogen lights make evening grilling a breeze.



Optional Magic View Window Optional Magic View Window available on Aurora A790 and A660; a Grill Top Thermometer (#3573) is provided at no extra cost.





Magic View Window

Optional Magic View Window available on Aurora A790 and A660; a Grill Top Thermometer (#3573) is provided at no extra cost.



22

Hot Surface Ignition

All Aurora grills feature push-to-light hot surface electronic ignition system for quick, reliable starts. Built-In Grills with Analog Thermometer

# Aurora A790i Built-In Grill

A790i-6EAN\*-W (optional Magic View Window shown)

Primary Cooking Surface	36" x 22" (792 sq. in.)
Warming Rack Surface	36" x 8" (288 sq. in.)
Main Burners	90,000 BTU's
Backburner	20,000 BTU's
Cut-out Dimensions	37¾″w x 23½″d x 12″h

• For Aurora Analog grills purchased with the Magic View Window option, a Grill Top Thermometer (Model #3573) is provided at no extra cost.

# Aurora A660i Built-In Grill A660i-6EAN\* (with Analog Thermometer shown)

Primary Cooking Surface	30" x 22" (660 sq. in.)
Warming Rack Surface	30" x 8" (240 sq. in.)
Main Burners	75,000 BTU's
Backburner	18,000 BTU's
Cut-out Dimensions	32″w x 23½″d x 12″h

• A660 model may be upgraded to Magic View Window (-**W**).





## Aurora A540i Built-In Grill

A540i-6EAN\* (with Analog Thermometer shown)

Primary Cooking Surface	30" x 18" (540 sq. in.)
Warming Rack Surface	30" x 8" (240 sq. in.)
Main Burners	63,000 BTU's
Backburner	18,000 BTU's
Cut-out Dimensions	32″w x 19½″d x 12″h



\* All models available in natural gas or propane (for propane change N to P in the model number).

- All models (except A790) are also available without backburner & rotisserie; change the 6th digit to a "5".

- For Digital Thermometer on Aurora Grills (except A830), factory installed in place of Analog Thermometer, change 8th digit to a "1".

Built-In Grills with Analog Thermometer

Aurora	A530i	Built-In	Grill

A530i-6EAN* (with Analog Thermometer shown)		
Primary Cooking Surface	24" x 22" (528 sq. in.)	
Warming Rack Surface	24" x 8" (192 sq. in.)	
Main Burners	60,000 BTU's	
Backburner	13,000 BTU's	
Cut-out Dimensions	25½″w x 23½″d x 12″h	



# Aurora A430i Built-In Grill

A430i-6EAN\* (with Analog Thermometer shown)

Primary Cooking Surface	24" x 18" (432 sq. in.)
Warming Rack Surface	24" x 8" (192 sq. in.)
Main Burners	50,000 BTU's
Backburner	13,000 BTU's
Cut-out Dimensions	25½″w x 19½″d x 12″h



# Aurora A830i Gas/Charcoal Combo Built-In Grill

A830i-6EAN\*-CB (with Analog Thermometer shown)

1	5	,
Primary Cooking Surface	<u>Gas Side</u> Charcoal Side	24" x 18" 22" x 18" = (828 sq. in.)
Warming Rack Surface	Gas Side Charcoal Side	24" x 8" 22" x 8" = (368 sq. in.)
Main Burners		50,000 BTU's
Backburner		13,000 BTU's
Charcoal Igniter		26,000 BTU's
Cut-out Dimensions		50¼″w x 19½″d x 12″h

• Halogen Lights for the A830i model are located on the gas side of the grill only.



# S Е R



**Optional Digital Thermometer** 

Upgrade to a Digital Thermometer in control panel with meat probe for an additional charge. (Not available on A830 models)

23

Upgrade to an infrared sear burner in the left hand position for an additional charge.

Optional Infrared Burner

\* All models available in natural gas or propane (for propane change N to P in the model number).

- All models (except A790) are also available without backburner & rotisserie; change the 6th digit to a "5".

- For Digital Thermometer on Aurora Grills (except A830), factory installed in place of Analog Thermometer, change 8th digit to a "1".





Single Side Burner Flush mounted single side burner included with A660, A540 & A430 portable grills.

24



### Hot Surface Ignition

All Aurora grills feature push-to-light hot surface electric ignition system for quick, reliable starts.



**Optional Digital Thermometer** 

Upgrade to a Digital Thermometer in control panel with meat probe for an additional charge. (Not available on A830 models) Portable Grills with Analog Thermometer

# Aurora A660s Portable Grill w/Single Side Burner

A660s-6EAN\*-62 (with Analog Thermometer shown)

Primary Cooking Surface	30" x 22" (660 sq. in.)
Warming Rack Surface	30" x 8" (240 sq. in.)
Main Burners	75,000 BTU's
Backburner	18,000 BTU's
Single Side Burner	15,000 BTU's

• A660 model may be upgraded to Magic View Window (-W).

# Aurora A540s Portable Grill w/Single Side Burner

A540s-6EAN\*-62 (with Analog Thermometer shown)

	<b>o</b>
Primary Cooking Surface	30" x 18" (540 sq. in.)
Warming Rack Surface	30" x 8" (240 sq. in.)
Main Burners	63,000 BTU's
Backburner	18,000 BTU's
Single Side Burner	15,000 BTU's



# Aurora A430s Portable Grill w/Single Side Burner

A430s-6EAN\*-62 (with Analog Thermometer shown)

Primary Cooking Surface	24" x 18" (432 sq. in.)
Warming Rack Surface	24" x 8" (192 sq. in.)
Main Burners	50,000 BTU's
Backburner	13,000 BTU's
Single Side Burner	15,000 BTU's



- \* All models available in natural gas or propane (for propane change N to P in the model number).
- All models are also available without backburner & rotisserie; change the 6th digit to a "5".
- For Digital Thermometer on Aurora Grills (except A830), factory installed in place of Analog Thermometer, change 8th digit to a "1".

Post Mount & Portable Grills with Analog Thermometer

# Aurora A430s Patio Post Mount Grill

A430s-6EAN\*-P6 (with Analog Thermometer shown)

Primary Cooking Surface	24" x 18" (432 sq. in.)
Warming Rack Surface	24" x 8" (192 sq. in.)
Main Burners	50,000 BTU's
Backburner	13,000 BTU's

• Includes a one hour safety timer that automatically shuts off the gas supply.



# AURORA S E R I E S



Optional Tank Shield (Model: 5110-33) Optional stainless steel LP tank shield



Optional Infrared Burner Upgrade to an infrared sear burner in the left hand position, change 7th digit to an "L" in the Model #.

# Aurora A430s In-Ground Post Mount Grill

 $A430s\text{-}6EAN\text{*-}G6 \ (\mbox{with Analog Thermometer shown})$ 

Primary Cooking Surface	24" x 18" (432 sq. in.)
Warming Rack Surface	24" x 8" (192 sq. in.)
Main Burners	50,000 BTU's
Backburner	13,000 BTU's

• Includes a one hour safety timer that automatically shuts off the gas supply.

Aurora A830s Gas/Charcoal Combo Portable Grill A830s-6EAN*-CB (with Analog Thermometer shown)			
Primary Cooking Surface	Gas Side Charcoal Side	24" x 18" 22" x 18"	- = (828 sq. in.)
Warming Rack Surface	Gas Side Charcoal Side	24" x 8" 22" x 8"	= (368 sq. in.)
Main Burners		50,000 BTU's	
Backburner		13,000 BTU's	

• Halogen Lights for the A830s model are located on the gas side of the grill only.

Charcoal Igniter



26,000 BTU's

- All models are also available without backburner & rotisserie; change the 6th digit to a "5".

- For Digital Thermometer on Aurora Grills (except A830), factory installed in place of Analog Thermometer, change 8th digit to a "1".



25